2 % PR 952 IVN—TER Bt | dpEs| 6% 28 |I\E1ﬁ| AR | %
HE B % | S10/SB9/SM10 SFS0MEHR S10 R 12A6H
SF100MEKE S10 SRBs 12A6H
BF100mFAE SBO R 12848 18 1 1:32.90 |- NZFT—4 2Dz HIBRIIFAE
SBF200fAXRL— SM10 3RE | 12838 16 2 2:49.39 |- NZF—5 2Dz HIBRIIFAER
At & % | S14/SB14/SM14 SF100mEER S14 R 12838 4 1 56.76 1| &X'
BF100m/N9T51 S14 %8 | 12838 2 1 1:01.50 1
SF200mEHF S14 R 12A5H 3 1 2:03.48 | 1| &XFI
SFA00mEHF S14 R 12A6H
SF100mMTEKE SB14 R 12A48 5 1 1:17.11 1| &XI
SF100MEKE S14 R 12A48 5 1 1:09.86 | 2| 8RXFI
KA FH £ S9/SB8/SM9 SFS0MEHF SO R 12A6H
SF100mEW SO R 12H5H 28 2 11232 |- NZF—%2D1=HIBMIIEATR
EF100mTEE SBS A% 12848 18 3 1:44.50 |- NZF—4 2Dz HIBHIIEATR
SF200AXRL— SMO k@ | 1283H 16 2 3:04.52 |- NZF—4 2Dz HIBHIIEATR
KB MmEFE | B | S10/SB9/SM10 SF100mEKE S10 R 12A6H
SF100mTEE SBO RE% 12848 14 1 1:32.72 AE PB
SF200AXRL— SM10 %8 | 12838 12 1 2:44.28 | 4| AE PB
e F % | S13/SB13/SM13 LF50MEHR S13 R 12848 3 1 31.24 - Non Viable Event
LZF100mEm S13 kB 12868
ZF100mMIERE SB13 e 12848 2 1 1:30.88 = Non Viable Event
LF200BAXRL— SM13 k8 | 12858 1 1 2:55.71 |- Non Viable Event
i = % | S14/SB14/SM14 SF100MEKE S14 i 12848 4 1 1:05.80 1| &X'
SF100mIEE SB14 R 12848 6 1 1119.26 | 3| $AXSIL
BF100mMNYTSA S14 53 12838 5 1 1;02.74 2| SBRXS I
Elé:2 REW | & | S14/SB14/SM14 LF100mEER S14 i 12838 5 1 1:06.17 1| &X'
LF200mEHF S14 R 12858 9 1 2:20.93 | 2| 8BXFI
LFA400mEE S14 RS 12868
LF100mTAE SB14 R 12848 9 1 1:30.02 N
LF100MEKRE S14 i 12848 6 1 1:21.46 N
JiN4 nE % | S10/SB9/SM10 BF50mEER S10 R 12A6H
BF100mEHEF S10 KBS 12858 | 28 1 1:05.31 1| &X'
BF100mIEXE SBO s 12848 18 2 1:36.23 | 4| AH
Pl = L S7/SB6/SM7 BFA00mAT S7 R 12H3H 12 2 6:14.98 |- NZF—92D1=HIBHIIEATR
BF100mEXE ST s 12868
BF100mPEE SB6 R 12848 14 2 2:02.75 |- NZF—9 207 HIBRIIFATK
HF50MNYTSA ST kR 12848 6 1 41.11 - NZF—9 207 HIBRIIFATK
)= W % | S13/SB13/SM13 SBFS0mEEF S13 R 12848 2 1 28.30 - Non Viable Event
SF100mEm S13 kB 12R6H
SFA400mEHF S13 RS 12848 4 1 5:12.30 1| &X'
SF100mN9T51 S13 38 | 12B6H




feci3 R S14/SB14/SM14 SF100mEE S14 R 12838 4 58.74 2| BXF I
SF100MEKE S14 SRBs 12A48 5 1:05.11 1| &X'
SEF200AXRL— SM14 k85 | 12A6H
i MR S5/SB6/SM5 BFS0MEKT S5 R 12858 1 44.00 |- Non Viable Event
SEF100mMPTEKE SB6 R 12848 | 14 1:47.19 | 3| AXSIL
BF50MNITS1 S5 RES 12848 6 38.97 1| &X'
SF200AXRL— SM5 B | 12838 | 12 3:39.30 | 1| &XFN PB
PO BHIR S8/SB8/SM8 LF50MEHF S8 R 12A6H
ZF100mEEW S8 R 12858 13 1:28.98 | 5| AH
LFA00MEHR S8 R 12838 5 6:43.99 | 2| 8BXSIL PB
LF100mPEE SBS R 12848 7 2:5421 | 6| AE
prelzs Fo S14/SB14/SM14 LF100mEEH S14 R 12838 5 11124 | 2| 8BXSI
LF200mEHF S14 R 12858 9 2:37.79 | 7| AE
LFA00MEE S14 R 12A6H
LF100mIEE SB14 hM 12848 9 1:46.22 | 7| AE
ARER wE S14/SB14/SM14 LF200mEHF S14 R 12858 9 2:32.00 | 5| AH
LFA400mEE S14 RS 12868
LF100mMPEKE SB14 hM 12A48 9 1:29.95 | 3| $AXSIL
&M RE S9/SB9/SM9 LF50MERF S RS 12A6H
LZF100mEm S9 RS 12858 8 1:10.82 1| &X'
LF100mPEE SBO A% 12848 4 1:29.96 | 1| &XFI
LF200BAXRL— SMO kB | 12838 4 2:54.26 | 1| &XFI
Hk =3 S10/SB9/SM10 LF50MEHR S10 R 12A6H
LF100mPEE SBO RE% 12848 4 1:48.02 | 3| #AXFI
LF200BAXRL— SM10 k8 | 12838 4 3:11.40 | 2| #BXSIL
= DED S14/SB14/SM14 LZF100mER S14 kB 12838 5 11233 | 3| 8AXSIL
LF100MEKE S14 i 12848 6 1:119.04 | 3| $AXSIL
LF100mIEE SB14 Rl 12848 9 1:42.93 | 6| AE
LF200mEE S14 R 12858 9 2:37.45 | 6| AHE
= BN S11/SB11/SM11 LF50mMEER S171 R 12848 3 42.05 - Non Viable Event
LZF100mER S11 5k 12868
ZF100mMERS S11 ki 12A38 1 1:4517 |1 Non Viable Event
ZF100mMIERE SB11 3R 12848 2 1:56.57 | - Non Viable Event




